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a) For each of the equations, what reaction will D <
be favoured by adding carbon dioxide (CO,} in
the system? z c;\ A
b) For each of the equations, what reaction will —
be favoured by an increase in the pressure of c) FDouoerd
the system? '
¢) For each of the equations, what reaction will
be favoured by a decrease in the temperature of \ 3 oS e .
the system?
2. Sulphur trioxide (S0,) is synthesized from sulphur
dioxide (SO,) and oxygen (0,) according to the 2z Cq Tiiexse
following equation: —E 10\ LAY
What reaction will be favoured if: { g
a) the temperature of the system is increased? Cn bo
. ) the pressure of the system is decreased by
doésﬂﬁuag' its volume? it =,
¢/ oxygen (0,) is added? 3- 9 Nhg

d) a catalystis added?

3. The industrial production of ammonia {NH,) from
atmospheric nitragen (N,} and hydrogen {H,) is
expressed by the following balanced equation:

Ny (g + 3Hy g =2 NH; g

Explain how the production of ammonia in this system

can be favoured without adding nitrogen or hydrogen
and without changing the temperature or pressure. 4 - EW '\’\{ Q&rwo\ :

4, The state of equilibrium between the precipitation and as e LQ\’J IR 9o vy

dissolution of silver chloride (AgCl) is represented by
the following equation:

Ag* aa) + Cl” = AgCl

Will the addition of aqueous hydrogen chloride {HCI}
favour the formation of silver chloride if the
temperature and pressure of the system remain

- constant? Explain your answer.
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5, Methanol (CH30H) is synthesrzed from carbon monomd
{CO) and hvdrogen {H,). The state of equilibrium of this }-fl
reaction is represented by the followmg equatron - -

Hlustrate the effect of a decrease in the quantity of Co

hydrogen by drawing a graph showing the changes 1 CHyoH

in concentrations of carbon monoxide, hydrogen andi

methanol as a function of time. lndlcate the areas — <.
on the graph that correspond to the initial equrhbnumj Hiug

_the-change in concentration of the components of the,
system and the new state of equilibrium.

6. The foll_bwing.is'a balanced reaction:.
AmtBa=Cq

- The graph below represents the change i reactron K
rate as a functlon of tlme of the conversion of '
compounds A and B mto compound C

Reaction rate

remeh equilibrion Qugler,

'I‘ime .

What would this’ graph Iook fike if the reactlon were
catalyzed? lllustrate your answer by copying this graf
: Land addrng the curves oorrespondlng to the catalyze(
drrect and reverse reactrons






